C, 0.0040 r, 284
C, 0.0010 » 7.10

C, 0.0010

4=4m
rate = k[NOJ [0, ]
7.10 = k(0.001)*(0.001) = k = 7.1x<10°

rate = 7.1x10°[NOT [0, ]

24. rate = k[rci"[H., T

For [ICl]— [H,] must be constant

C, _020 r, _ 0.0030 C, _0.050 r, _
C, 0.10 r _0.0015 c, 0.10 r
n_(<CY n_(SY)
r; <, Lg <,

2=2" 0.5 =0.5"

m=1 =

rate = k[rcrH, ]
0.0015 = k(0.1X0.1) = & = 0.15

rare = 0.1s[ict]H,]

. 25. rare = k[(CH,),cBr]” [OH ] }'

C, _ 0.0030

- 3

255.6
s 28.4

For [H,]— [/CI] must be constant

0.00075

0.0015



